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General Instructions :
(i) This part has 40 questions in all.
(ii)  All questions are compulsory.

(iii)  Questions from serial no. 1 to 18 are Multiple Choice Questions
carrying one mark each. These are to be answered by writing the

correct option in your answer-book.

(iv)  Questions from serial no. 19 to 34 carry 3 marks each. Answers to

such questions should not exceed 10 words.

(v)  Questions from serial no. 35 to 40 carry 4 marks each. Answers to

such questions should not exceed 150 words.

(vi)  Attempt all parts of a question together.

1. FrefaRad & O ot o6 eew, S 6 e o ! 1
(=7) Tfved spram a9 (9) e 3 1 ATTHR T
(@) SrefenRTeli 9T & YO (3) uREdHT T

" Which one of the following is not a feature of debentures ?
(a) Specified maturity period (b) No voting right
(¢) Longterm debt instrument (d) Variable return

2. W s 3w oz, St e Aot 7 e g ? 1
(w) FEadw (7) wEwRI S
In which category of banks, does State Bank of India fall ?
(a) Specialised banks (b) Commercial banks
(©) - Central banks (d) Cooperative banks

35/1 3 [P.T.O.




3. Frafufed AT IR RS ?

(31) ot w1 Fe (3) iR ST o
(@) =T (z) S urfufeed

Which of the following is a current liability ?

(a) Issue of debentures (b) Issueof preference shares
(c) Public deposits (d) Bank overdrafts

4. SR & & Fore o1 ST WA B 1 7
(a1) o e
=) Sfrert s Foom & /™
(@) wfcremia =
(3) e B drelenrefE =0

Which of the following is owned fund as a source of finance ?
(a) Issue of debentures

(b) Loan from L.IC.

(c) Retained earning

(d) - Long term loan from bank

5. g o Fofee R e g e -

(a7) e e 3 T (7) g e e 6 R
(@) TR 39H % T (3) TR =R S fog
Issue of share is a source of finance for :

(é) Partnership firms (b) Joint stock companies
(c) State enterprises (d) Sole proprietorship

3511 4
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frefafea & 4 tm = s Aa s g ?

(1) =HoToEt T AT (@) w=fgm

(@) . R, e fma s (z) wiqaria o
Which of the following is an internal source of finance ?
(a) Issue of debentures

(b) Public deposits

(¢) Loan from LF. Corporation of India

(d) Retained earning

Frefefad § @ v TR w Ea am A e?

() IURHA

(@) e rftfed

(@) il

(3) 1. forhma <6 9 RW

Which of the following is a source of long term finance ?
(a) Credit purchases

(b) Bank overdraft

(¢) Factoring

(d) Loan from Development Bank of India

g Torfo (T TerisT) T TSR © T8l
(1) ww Fa-Ta e e

() w1 - fe g R

(@) ufefeat =1 wa-faswg BT e

(3) iR 1 - T g &

[P.T.O.




10.

35/1

Stock Exchange is a market where :
(a) Goods are sold and purchased
(b) Building are bought and sold

(c) Securities are bought and sold

(d) Motor cars are sold and purchased

e Tl el At o st o R @

(37) atfmsr aiet & i s/

(@) o fel g

() o i o e g

(3) T YN 5

A joint stock company receives debts capital through :
(a) Tssue of preference shares

(b) Issue of debentures

(c) Issue of equity shares

(d) Purchase of goods on credit

Aefifaa 1 A R e TE R e ¢
(1) e ot (@) faFma
(W) ohe W 34 =l WS (8) wo SR

Which of the following is a negotiable instrument ?
(a) Payinslip

(b) Bills of exchange

(c) Cashmemo of goods purchased

(d) Proforma invoice




11. TF TTE% 3 &7 & 30! o) e S S auT 31kl SR e ared fHeprer

EIERIEEENEASICIRE 1
(31) s=aSmEm (7) TEdEe
(@) = E (3) TeiorsHiEn i

A banking facility enabling customers to deposit or withdraw cash during a

day at any time, any number of times is possible in :
(a) Savings bank A/c (b) Fixed deposit Alc
(¢) Current A/c (d) Recurring deposit A/c

12. wHEE 1 A 2013 i Frift frar wn, e w At 19 2011 IR 8, 98

HEARN : 1
(31) faa (=) qo fern-fier 3
(@) 3 A w9 (2) W &l aiiE w1 =9

A cheque issued on 1st March, 2013 and bearing the date of 1st March,
2011 is called :

(a) Mutilated cheque (b) Stale cheque
(¢) Antedated cheque (d) Post dated cheque
13, Fefafaaidss g s sR e ? 1
(31) TITESHT <t STETA T (F) e wE
(W) + TTEehT 1 e &l (3) < =R AT

Which of the following is a primary function of a Bank ?
(a) Giving security of the customers

(b) Agency work

(¢) Giving references of the customers

(d) Accepting deposits

35/1 7 [P.T.O.




14.

15.

16.

35/1

@%&%ﬂmém%@ﬁ%ﬁ@?ﬁ%,m%:

(1) URSH =h (3) TR

(@) Ywifed =% (7) faga<=h

A cheque which bears two parallel lines on its face is called :
(a) bearer cheque (b) order cheque

(c) crossed cheque (d) mutilated cheque

et 1 o e W e e (sfrergTae) sh gfers Wam 8,
SUFEI S

(31) T S @ (=) TS I @I

(W) =ITe] ST @ (z) fesitr@m

The customers can avail the facility of overdraft in case of opening the :
(a) Home safe A/c (b) Fixed deposit A/c

(¢) Current deposit Alc (d) Recurring A/c

%ﬁmzw@ﬁmwaﬁamﬁmﬁwﬁaﬁaﬁrégﬁmﬁm%:

(1) T (F) TSR

@) W EiE (3®) Eackicall

A banking facility enabling customers to deposit or withdraw cash 24 hours
a day is called :

(a) ATM.

(b) Credit banking
(c) Netbanking
(d) Phone banking




17. TfaRed d g S5 1 S hi w87 1

(=1) I S fofes (%) OREad e fanes
(W) R 7% T2 (3) @ fafes
Which of the following is a Public Sector Bank ?

(a) Ing Vysya Bank Ltd. (b) Sarswat Bank Ltd.
(¢) Bank of Baroda (d) Vaishya Bank Ltd.

18. 3T TS I T hed & TSTEes 109 U Uk UTeeh 379 <ok okl T4 A forfae gmaisn

1 I / TS AT SforT ht ST Rt 3T 7140 41 2 : 1
(31) SR (3) =%
(@) wiogms () fafmam

The instrument through which a customer orders his’her bank to pay the

amount written in the instrument to the bearer/order is called :

(a) Bank draft (b) Cheque
(c) Promissory note (d) Bills of exchange
19, worrs doft w1 Frerteor R et fomet o mreht Rt W & T | 3

Explain in brief any three factors determining the fixed capital.

20. (i) @it 3 GRS e (ii) S Rt = w3 v | 3

Explain in brief (i) ploughing back of profit and (ii) public deposits.

35/1 9 [P.T.O.




21, O R ahonfie o g, T i A AT & wrf ) we 3

Defining debentures, explain any two drawbacks of their issue.

22, rE=E iR RM T S R i e w e B e Bt e
T} i SATE it | 3

Explain any three advantages of issuing non-commulative preference shares

by a company.

23, e Touftr < fordt oft s1famd went < s il | 3

Explain any three essential features of Stock Exchange.

24. (i) Taf st qen (i) & o e % e wmEed | 3

Explain the meaning of (i) Exchange Bank and (ii) Regional Rural Banks.

25. S st o g oF S wHET | 3

Explain any three functions of Agricultural Banks.

26. TRReT ST @I 1 T dIeqd il £7 39 @ % T 8§ 39 A oy aret
GETRT 3 ATH AT ST Sa1Ed | 3

What is meant by Recurring deposit A/c? Explain the names and uses of the

books used in the operation of this account.

35/1 10




27.  TOFEIE ST T &7 UHSTES OUT §H & @Il Sl SATEA hitvg | 3

What is electronic banking ? Explain with its two advantages.

28. e froid o o fondl i st <t = i 3

Explain any three functions of Reserve Bank of India.

29, el e % 31 T8 3uIT ! wHEET | 3

Explain the meaning and use of debit card.

30. % g S AR 1T T S g9 5 A S o g &l AT S | 3

Define bank draft and explain any two advantages of making payment

through a bank draft.

31, SfeST oS o ST 87 U Wi o 7 STiere vl st smen i | 3
What is promissory note ? Explain the parties involved in a promissory
note.

32. U EUST 9T NI O H IS A1 ST i | 3

Give any three differences between hundi and a promissory note.

35/1 11 [P.T.O.




33.

34.

35.

36.

35/1

mmmﬁawgmﬁ%m%mqﬁnﬁmmnm@ﬁ?aﬁ%&ml

What are the advantages of using cheques to business community ? State

any six.

wﬁa%ﬁr@%ﬁmﬁwwwmﬁmé?mmaﬁt%ﬂaﬁm
TR B 87

What is meant by the notice of dishonour of a bill ? When is its necessary
to give and to whom ?

ﬁ%ﬁm%m@ﬁﬁwwmé?@ﬁaﬁmmawwﬁﬁa
oo @ Y REaa g ?

What is meant by savings bank A/c in a bank ? How do the savings bank
A/c in a Bank and a savings bank A/c in a Post Office differ from one
another ?

fefefaa =t gy § e
(31) =i o

(¥) ot o

(|) foret 1 el

(3) v

12




37.

38.

39.

40.

35/1

Explain the followings in brief :
(a) Trade Bill

(b) Holders in due course

(c) Renewal of bills

(d) Noting charges

g e 3 fae 3 e o el =R farged] w1 wwerd | 4

Explain any four points of importance of finance in modern business.

i F ey Terafon o forel =R e it ohi ST it | 4

Explain any main four functions of Stock Exchange in India.

AT 8T & RIS =R o THEEY | 4

Explain any four benefits of inter company/corporate deposits.

e Ty Qe TohE | o 319 Sy 9T ST H 3TN Shiiwg | 4

Explain the meaning of bank overdraft and cash credit and differentiate
between them.

13 [P.T.O.
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(i) SEETAT AU AW & AT
(i) ELEMENTS OF BOOK-KEEPING & ACCOUNTANCY

TTAT (3397

(i)  FEUTH FT 36 FAE|

(i) @ g I 8

(i) TG 1 9 18 7 T 7 § 5 v o i 7 B B
eyl 7 & g oo w1 So-glwrd 7 g 21

(v) T T & gl I O @ & F S

General Instructions :
(i) This part has 36 questions in all.
(ii)  All questions are compulsory.

(iii)  Questions from serial no. 1 to 18 are Multiple Choice Questions
carrying one mark each. These are to be answered by writing the
correct option in your answer-book.

(v)  Attempt all parts of a question together.

31#2012@@%3&&3&1%%%@@%@@&%%
Bt

(1) 39amE 2012 (¥) 292012

(|) 49 2012 () 1 2012

A bill drawn for one month on 31% May 2012 will mature for payment
on:

(2) 3" July 2012 () 2" July 2012

(c) 4™ July 2012 (d TI*July2012

14

[ E=Ram 37 - 90

[ Maximum marks : 90
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wfers oot <t Fmfor foram s @

(37) TEERER

(@) <EREA

(@) s®Ea

(8) SreTeRT! A1 YBiRRl g
Promissory note is made by the :
(a) Creditor

(b) Debtor

(¢) Bank

(d) Endorser

e Tt o iR e SRR ¢

(31) <FRRET (@)
(W) gt T (®)
Bills of exchange can be endorsed by :
(a) Creditors (b)
(c) Endorsee (d)
e fafimg v & gt fr FE i 9

(3) @ (=)
(W) =w ()

A bills of exchange has the parties :

(a) Two (b)
(c) Four (d)
15

JETehERl G
TR FA

Endorsers

Debtors

a=
T 9 IS T

Three

None of these

[P.T.O.
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m@mmgﬁawﬁwﬁwﬁw%ﬁmﬁgﬁﬁﬁwm
BT :

(=1) weprerat (=) &=
(|) s foret v () @foaam

When a discounted bill is dishonoured, the account to be credited in the
books of drawer is :

(a) Drawee (b) Bank
(c) Bills receivable A/c (d) Bills payable A/c

fafime o & fowspa @9 1 won & fomft () =Rt w1 R s SeE
EECIE

(1) <rEes (@)  sTamdl =

(|)  9Ta Teeha (38) = = ot =0t oft 7

In case of dishonouring of a bills of exchange, noting charges are ultimately
borne by :

(a) Drawer (b) Drawee

(c) Payee (d) None of these

Tertererr ot <6t o, wer oY v w6t =t oy e s 2, 9 et -
(1) YA yreeRai (F) <= graehAt
(®) e () w@=

In the case of bills of exchange the party which is ordered to pay the
amount is known as :

(a) Payee (b) Endorsee
(c) Drawee (d) Drawer
16




8.
€. =3
/

10.

A\
/
35/1

T ER T 5,000 He o6 HIE oht SATRATA Y # S o= T o 19 8

(31) form () e

(@) W @ =

Goods worth X 5,000 taken by the proprietor for his personal use should be
debited to the A/c of :

(a) Sales (b) Drawings

(c) Debtors (d) Purchases

I @t =R % :

(31) Tm Y (@) “mrIw

(@) TP (@) T aFE
Suspense A/c shows :

(a) Debit balance (b) Credit balance

(c) Either of the two (d) None of the above

T 5 HR( o S0 =59, 9 ¥ fore s =nfae

(1) worgli s
(@) T3 &%

=)
(®)

UFE &
TS i oo AfHeh &

Installation charges of a new machine should be debited to :

(a)
(®)
(c)
(d)

Wages A/c
Cash A/c
Machinery A/c

Labourer’s Personal A/c

17

[P.T.O.




11.

12.

13.

351

Aot 3 FI ST ST T S T, Wil S e =
(31) T-FI @ (F) @
(w) Tesftmmm (3) SIRTE BT @

Goods destroyed by fire during the year, should be credited to :
(a) Profit & loss Alc (b) Purchases A/c
(c) Sales Alc (d) Loss by fire A/c

ﬁwﬁaﬁﬁwmw?mooaﬁﬁmwﬁ%waﬁaﬂi
% 4000 T TR | vy g wfaT & anefter T % T o ST

(31) ¥ 3000 (@) T 4000

(@) T 7000 (8) T 1000

Commission paid to salesman amounting to Z 3000, was credited to
commission A/c with ¥ 4000. In rectifying entry commission A/c will be
debited by :

(a) T 3000 (b) T 4000

(c) T 7000 (d) <1000

He JATYfdehar i < 800 T T e B, Al @ 9 § 36 S
a5, 1800 ST @ F T g TR § et & T # AW A o
ST

(31) T 1000 (&) T 2600

(") %3600 (3 T 1600

Goods worth T 800 were returned to the supplier. His personal A/c was
credited by T 1800 in ledger. In rectifying entry supplier’s A/c will be

debited by :
(a) 1000 (b) 2600
(¢) <3600 (@ 1600

18




14.

15.

16.

351

TS |l o1 STT=eH BT

(1) ifoh ze-ge

() SR § @

() TEarfmama

(3) wHAHE of

Obsolescence arises in Fixed Assets due to :
(a) Physical wear and tear

(b)  Fall in market value

(c) Introduction of new technology
(d) None of these

T "Tgya wrt W Rl # & g e s ar R @ v 27
(37) Treepdor

(9) ©HI 1 dia g

(@) T

(3) wH IR e wa

Which of the following may be the cause of charging depreciation in case

of “Leasehold property’ ?
(a) Extraction

(b) Lapse of time

(c) Tear and wear

(d)  Fall in market price of the property

@mﬁmﬁmm@ﬁmmmaﬁmﬁaq\wﬁm%:

(1) IRfe go () R
(®) T ferht 7 (3) Y oed
19

[P.T.O.




17.

18.

3571

Estimated sale value of an asset after its working life, is called :
(a) Original value (b)  Scrap value
(¢) Resale value (d) Book value

e Wl 1 @l 2012 F T 50,000 F 4 1 T e st 10 79 @
o T SR e T 2000 ¥ 1w frea wef i Bt @ A o kg
EIRUNEIE

(31) 5000 (=) T 4900

(") T 4800 (8) T 4700

A machine was purchased on st April 2012 for ¥ 50,000. Its life is 10
years and its residual value is T 2000. Amount of depreciation according to

straight line method in the third year will be :
(a) 5000 (b) 4900
(c) 4800 (d T 4700

grqfrt ohi Forshl & B et T 2h ST fohe ST |
(31) ww-EH @

(¥) wmf @ ®

(@) w=mEdH

(37) =UREEH

Gain on sale of an asset is credited to :

(a) Profit and loss A/c

(b) Asset Alc

(c) Reserve Alc

(d) Trading A/c

20




19.

20.

21.

22,

35/1

SRR Ot <= Ehell 7 Hieafn St <l TEral 8 wh SR T % A S
hITSTT | 3

What is a promissory note ? Give specimen of a promissory note with

imaginary figures.

Freferfiaa = fore fie <Y qeeren! & Semmren vfafset it

¥ A HIE 0 = T 15,000 2 TE 3 Rw el S arear |

AET 10% AMMe 6T ST 1 Tohe AN H T TS0 3 770 g2ma &)

T A feret ST e B | 3

Journalise the following in the books of Mohan :
Shyam requests Mohan to renew his acceptance for T 15,000 for 2 months.
Mohan agrees to it provided interest is paid @ 10% p.a. in cash. The bill

was renewed.

& fafme o= & e we wffiferg 8 87 3996 T SaEn o SaTer afa
T | 3

How many parties are involved in a bills of exchange ? Name them and

explain with examples.

Hgi=ish sTyfaat @ St §7 U foredi <1 el 3 sarer At 3

What is meant by errors of principle ? Give any two examples of such

€ITOoTS.

21 ' [P.T.O.




23.

24.

25.

26.

217,

28.

3511

t@wmﬁmﬁiﬁ@aﬁa@ﬁm&ﬁmé’raﬁﬁwmﬁ@%muw
RECIES

State any three errors which affect the Profit and Loss Account after their

rectification.

mmﬁaﬁmwﬁéﬁﬁ?ﬁqmml

State any three advantages of charging depreciation by reducing balance
method.

ﬂmﬁﬁmmm%%?ﬁwﬁaﬁml

Explain any three factors of charging depreciation on assets.

mﬁﬁmmm%ﬁé?ﬂqwm@1

Explain any three causes of charging depreciation on assets.

@é@%mﬁa%%@ﬁwwﬁmﬁw&mwéﬁﬁm%
Fv7a T ) IS S e 27 T |

What possible steps may be taken by a drawer after drawing a bill and

getting acceptance of the drawee. Explain.

mﬁmmﬁwﬁmgﬁﬁﬁmgﬁmaﬁﬁq:
@ = 30,0003Wmmwé@ﬁa?aa€fﬁﬁ5mW|
Gi) e 1000 1 <IET 5 AT S H T8RRI

22




29.

35/1

Rectify the following errors through passing journal entries :

@)
(i)

Credit purchase of goods ¥ 30,000 recorded in sales book.

Sales Return ¥ 1000 entered in purchase returns book.

Freferfian srgfeat =1 gom it e 7@ qore TR w6 @ g @ =

Tl?ﬂ%:

(M)

T A T 8755 o1 IR el 1 9 3T+ AfeaTd @d | T 5578 for@
™E|

(i) T I SUR wTe w1 fawa T 6580 36 SARETE @ # T 8560 for@
e

(iii) T 10,000 =T THe T T 1 TR e @Td & T 1000 ¥ Tk
TE

(iv) T 500 7ohe WTeR 53 o 9T SeiT=Rk @Td 1§ T 5000 ¥ fRm e &)

Rectify the following errors which have been detected before preparation of

trial balance :

@) Credit purchase of goods ¥ 8755 from Gyani was recorded in his

(11)

(iii)
(v)

personal A/c as T 5578.

Credit sale of goods ¥ 6580 to Raju was recorded in his personal A/c
as ¥ 8560.

Cash sale of goods T 10,000 was credited to sales A/c as I 1000.

Cash purchase of Furniture ¥ 500 was entered in Furniture A/¢ as
T 5000.

23 [P.T.O.




30. ﬁ%wa@%maﬁmﬁwwﬁﬁmﬁaﬁ%l

Give examples of any such four errors which are disclosed by preparation

of trial balance.

31, o EiEE sargd 6w Prafia wem 7 © 71 3 -

®
(i)
(iii)

(iv)
l (1)

(i)
(iii)

@iv)

v 3 ferafa Fomen goT WG, Torgea e ST R ST R
S e Hee AT S g ¥

Tt g St ITEnT % forg FHesre T 6 STTEC0T @rd | ST TR
EiGIE

Wm@w%m&fﬁéﬁmm%mﬁ%@w%:

State with reasons that whether the following statements are true or false :

Goods distributed as charity should be credited to sales Alc.
Suspence A/c always shows debit balance.

Goods taken by proprietor for personal use 1is credited to

drawings A/c .

When a cheque received from a customer is dishonoured it is

credited to the customer’s A/c.

32. aﬁﬁmmmmwmﬁ%?maﬁﬁm%ﬁﬁﬁmmﬁaﬁml

What is meant by charging depreciation on assets ? Explain any three

characteristics of depreciation.

3571
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33.

34.

35.

36.

35/1

ﬁmwaw%ﬁnawﬁwmamw%ﬁwwwmﬁml

Explain differences between a promissory note and a bill of exchange and

give specimen of a bill of exchange.

U X 1000 1 31 foret 910 € 3 =1e S 9 vt 00 oo T 38 2 950 97y
1| 78 fomr yrm Rl w sma @ e () e i) TR e
(iii)%ﬁwﬁﬁmﬁamwmﬁmwmﬁmﬁw
LRI 1oy

A bill receivable for ¥ 1000, which was discounted at & 950 after receiving
is dishonoured. Give journal entries to record the transaction from receiving
the bill onward in the books of (i) Drawer (ii) Drawee and
(i11) Bank.

aryfartt o e T 35 ot o T P g vt ) R

State any six steps to locate the errors.

T H o T W3 1 08 2010 91 T 60,000 ¥ 57 T 1 I 2011 B T
SR 73l T 20,000 & F9 6 31 W= 2012 1 el HE S 1 wE 2010 B
4 61 TS oAt T 38,500 F A= A ) i a =g 20% a1 1 R § IR
e W ST AT § a9 @ 31 femem =1 5= 2R &1 e o & form weid
A AR i

A firm purchased a machinery on 1st May 2010 for ¥ 60,000. On 1st July
2011 it purchased another machine for 20,000. On 31% March, 2012, it
sold the first machine purchased on 1st May 2010 for ¥ 38,500.
Depreciation is provided at 20% p.a. on the original cost each year.
Accounts are closed on 31% December every year. Prepare machinery

account for three years.
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(iii) S0t (Rrgrear) @iireft sreren fowdt
(iii) Typewriting (Theory) English or Hindi

e g : 2 992 ] [ ferman 3 : 30
Time allowed : 2 hours ] [ Maximum marks : 30
AT 3597 :

3571

(i) 7 y7-U7 F 5 15 W &1 Geft e A €

(ii) W@@H@éﬁ%magaaﬁéaﬁrm@?aﬁrmwmﬁw
gl
(ii) gy T 7 & 12 % A T 2 37 I &1 7% FRBIE g =Y K

60 3752 Tt 97 & 37fres % &l g1 =meq!

(iv) TG 13 @ 15 T 5ol T 4 o7 @7 &1 37 4 YA 7 I 120
wee] @ 3718 &7 Tl g7 @15

General Instructions :

(i) This question paper has 15 questions in all. All questions are

compulsory.

(i)  Question no. 1 fo 6 are very short answer questions and each

question is of one mark.

(iii)  Questions from serial numbers 7 to 12 are of two marks each.
Answer of these questions should be short answer type and should

not exceed 60 words each.

(iv)  Questions from serial numbers 13 to 15 are of 4 marks each. Answer

of these questions should not exceed 120 words each.
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SATH-YEAh (SFeh-eh ) AT B -T (o7eh 3i1e) T Fm 3T 27

What is the difference between a work-book and work-sheet ?

TS MR T AL: D4 I 8 fonef wfiat (37) 2fie

How many rows will be there in the range Al : D4 in a spread sheet ?

e formm fgl o ereu e & vedt ehame o e SrwEN? 1

0) Iewg
(i) ol e

How many spaces will you leave before and after typing the following

punctuation marks ?
(i) inverted comma

(i) full-stop.

G BT fohei wreq 2rew v g T ST Afe sues TrEerEfT e Y A e

2050 iR mu €7

How many words will be deemed to have been typed by Sarita if the

strokes in her typewriting test paper are counted as 2050 ?

Tk % A<k <l T/ BT 87

What is the job of a proof reader ?

27
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fFrefataa 6 @Rﬁaw%mm;ﬁsﬁm%@wwmm?
Q) eTaTEe Fag T

Gy meAH g L

Which proof correction signs will be used for indicating the following :
(i)  Imsert question mark

(i) Centralise

s (3 Al, B2 3 B3 Fuag R gen g

Al =20,B2=40,B3=10
it (TEeTA) = Al+ B2 * B2 =51 R T e

The contents of the cells A1, B2 and B3 are as follows :
A1=20,B2=40,B3= 10

What will be the result of the expression = Al + B2*B2?

%ﬁﬂﬁ@@:ﬁﬁzﬁﬁﬂ%ﬁ@ﬁ%%ﬁmﬁqﬁ-@ésﬁimwmaﬁﬁ?
() aﬁmhﬁaﬁﬁﬁwaﬁﬁm

i) e R (8 L,

(iif) gfaw@zﬁﬁram%,

iv) o 7S BT W 87
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10.

11.

12.

351

What keyboard shortcuts will you apply for the following in a spread-

sheet?

® Copy the selected range,

(ii)  Save the document,

(iii)  Print the document,

(iv)  Open a new file.
foheell = zrgmrrg e fesii =k gt wrsu |

List any four typewriting errors.

319 EITEIE | Y[ i ot TOMT 68 =it 27

How do you calculate net speed in typewriting ?

TG dTeF & T STYfEdl o1 TR TR ua T Sr § Qo wEitee fohen

ST R?

How are mistakes detected and corrections made at the time of proof

reading ?
Trfeiaa 1 geiten fog s anfa & 7
@ #

i Y

(i) o/
vy 7=
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13.

14.

35/1

What do the following proof correction signs indicate ?

0 #
@ Y
(i) */

(iv) :—;

@a&m%mﬁ%ﬁﬁmwaﬁmé@r@ﬁammmmwﬁm
mmm@mm%mmﬁW1

Write the steps for creating a spread-sheet to record the marks obtained by
all the students of a class and to find out the average of the marks obtained

by the class.

mﬁﬂﬂnﬁ@w%%%%&wwmaﬁa@?

What steps should be taken for the development of speed and accuracy in

typewriting ?
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15. R gy it ) wfffer s go frefifion =) o

&
B/ ¥ wboff o vve srguaaed),
RZ F7& &) T8 o ol

€2 M) ew%mﬁrmﬁ"r
cc/::) R @2 e o 4 Ty o 4
Frad SElE R

% ol i .71'71’\’;
B e ) LT A
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OR

Write the following incorporating the corrections as indicate :

ve (Ll S son pomin S

A e nfpnsnce. o Ui When
%WW&(WAAM@WM&

e

G W[\&w,mﬁ frncontly . Hn alp &

——

pnfonance  Cover. bl ?WWIEL ot Aoz,

| el beefe Aipeodsnt oo e do nek frca
vy We pka({w%/&m?wmmk
vt | et [ On o Aned, adogests dentic

Covns Aléfi" Eﬁﬂh» and U }*{41“31 Lofo ane drbendads

)L . N ErM, £ "?uAerlw?, Lok, [K;$1‘4;‘c;wxﬂ_ a? P

J
Fordcel ,bw(rw i, A frsrillact Kogi

] 2 Poger  fFe sufpusonce. ot bty fike
cax cmqur»%@wdwamwwﬁbw

b A ok festie Bote [fAw Ive goanel hoAT of
zoiéﬁybvﬂ , Lned. A%ﬁLnéH?C Coven LUJW{AL.i“L’AA%mle%uQu
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